Dielectric Susceptibility

Peter Hertel

University of Osnabrück, Germany

April 1, 2010

▶ Before the onset of a perturbation, the system was in equilibrium

▶ Before the onset of a perturbation, the system was in equilibrium

$$G = e^{(F-H)/k_BT}$$

- ▶ Before the onset of a perturbation, the system was in equilibrium
- $G = e^{(F-H)/k_BT}$
- ▶ $H_t = H + V_t$ where $V_t \to 0$ for $t \to -\infty$

▶ Before the onset of a perturbation, the system was in equilibrium

$$G = e^{(F-H)/k_BT}$$

- $lackbox{H}_t = H + V_t \text{ where } V_t
 ightarrow 0 \text{ for } t
 ightarrow -\infty$
- ▶ How will an observable *M* be affected?

▶ Before the onset of a perturbation, the system was in equilibrium

$$ightharpoonup G = e^{(F-H)/k_BT}$$

- $lackbox{H}_t = H + V_t$ where $V_t
 ightarrow 0$ for $t
 ightarrow -\infty$
- ▶ How will an observable *M* be affected?

$$>$$
 $< M >_t = < M > - \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$

 Before the onset of a perturbation, the system was in equilibrium

$$ightharpoonup G = e^{(F-H)/k_BT}$$

$$lackbox{H}_t = H + V_t \text{ where } V_t
ightarrow 0 \text{ for } t
ightarrow -\infty$$

▶ How will an observable *M* be affected?

$$ightharpoonup < M >_t = < M > - \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$$

• where $\langle A \rangle = \text{tr } GA$

 Before the onset of a perturbation, the system was in equilibrium

$$ightharpoonup G = e^{(F-H)/k_BT}$$

- $lackbox{H}_t = H + V_t ext{ where } V_t
 ightarrow 0 ext{ for } t
 ightarrow -\infty$
- ▶ How will an observable *M* be affected?

$$ightharpoonup < M >_t = < M > - \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$$

- \blacktriangleright where < A >= tr GA
- We specialize to $V_t = -\lambda(t)V$

 Before the onset of a perturbation, the system was in equilibrium

$$ightharpoonup G = e^{(F-H)/k_BT}$$

▶
$$H_t = H + V_t$$
 where $V_t \to 0$ for $t \to -\infty$

▶ How will an observable *M* be affected?

$$ightharpoonup < M >_t = < M > - \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$$

- \blacktriangleright where < A >= tr GA
- We specialize to $V_t = -\lambda(t)V$
- $> < M >_t = < M > + \int_0^\infty d\tau \, \lambda(t \tau) \Gamma(\tau)$

 Before the onset of a perturbation, the system was in equilibrium

$$F G = e^{(F-H)/k_BT}$$

▶
$$H_t = H + V_t$$
 where $V_t \to 0$ for $t \to -\infty$

▶ How will an observable *M* be affected?

$$ightharpoonup < M >_t = < M > - \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$$

- where < A >= tr GA
- We specialize to $V_t = -\lambda(t)V$

$$> < M >_t = < M > + \int_0^\infty d\tau \, \lambda(t - \tau) \Gamma(\tau)$$

- Before the onset of a perturbation, the system was in equilibrium
- $G = e^{(F-H)/k_BT}$
- $lackbox{H}_t = H + V_t$ where $V_t
 ightarrow 0$ for $t
 ightarrow -\infty$
- ▶ How will an observable *M* be affected?
- $ightharpoonup < M >_t = < M > \int_0^\infty d\tau < \frac{i}{\hbar} [M(\tau), V_{t-\tau}] >$
- \blacktriangleright where < A >= tr GA
- We specialize to $V_t = -\lambda(t)V$
- $> < M >_t = < M > + \int_0^\infty d\tau \, \lambda(t \tau) \Gamma(\tau)$
- $ightharpoonup M(au) = U_{- au}AU_{ au}$ where $U_{ au} = e^{-rac{i}{\hbar} au}H$

$$H = \sum_{a} \frac{\mathbf{p}_a^2}{2m_a} + \frac{1}{4\pi\epsilon_0} \sum_{b>a} \frac{q_b q_a}{|\mathbf{x}_b - \mathbf{x}_a|}$$

Matter is described by

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

▶ Density of electric dipole moments = polarization

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- ▶ Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- ▶ Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- ▶ Perturbation by an electric field $\mathbf{E} = \mathbf{E}(t, \mathbf{x})$ is described by

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- ▶ Perturbation by an electric field $\mathbf{E} = \mathbf{E}(t, \mathbf{x})$ is described by
- $V_t = -\int d^3y \, \mathbf{E}(t,\mathbf{y}) \cdot \mathbf{P}(\mathbf{y})$

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- ▶ Perturbation by an electric field $\mathbf{E} = \mathbf{E}(t, \mathbf{x})$ is described by
- $V_t = -\int d^3y \, \mathbf{E}(t,\mathbf{y}) \cdot \mathbf{P}(\mathbf{y})$
- ▶ Assume dielectric medium, i.e. <**P**>=0

$$H = \sum_{a} \frac{\mathbf{p}_a^2}{2m_a} + \frac{1}{4\pi\epsilon_0} \sum_{b>a} \frac{q_b q_a}{|\mathbf{x}_b - \mathbf{x}_a|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- ▶ Perturbation by an electric field $\mathbf{E} = \mathbf{E}(t, \mathbf{x})$ is described by
- $V_t = -\int d^3y \, \mathbf{E}(t,\mathbf{y}) \cdot \mathbf{P}(\mathbf{y})$
- ▶ Assume dielectric medium, i.e. <**P**>=0
- $ightharpoonup < \mathbf{P}_i(\mathbf{x})>_t = \sum_i \int_0^\infty d\tau \int d^3y \, \Gamma_{ij}(\tau, \mathbf{x}, \mathbf{y}) \, E_j(t \tau, \mathbf{y})$

$$H = \sum_{a} \frac{\mathbf{p}_a^2}{2m_a} + \frac{1}{4\pi\epsilon_0} \sum_{b>a} \frac{q_b q_a}{|\mathbf{x}_b - \mathbf{x}_a|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- ▶ Perturbation by an electric field $\mathbf{E} = \mathbf{E}(t, \mathbf{x})$ is described by
- $V_t = -\int d^3y \, \mathbf{E}(t,\mathbf{y}) \cdot \mathbf{P}(\mathbf{y})$
- ▶ Assume dielectric medium, i.e. <**P**>=0
- $ightharpoonup < \mathbf{P}_i(\mathbf{x})>_t = \sum_i \int_0^\infty d\tau \int d^3y \, \Gamma_{ij}(\tau, \mathbf{x}, \mathbf{y}) \, E_j(t \tau, \mathbf{y})$
- ightharpoonup $\Gamma_{ij}(au,\mathbf{x},\mathbf{y})=<rac{i}{\hbar}[P_i(au,\mathbf{x}),P_j(0,\mathbf{y})]>$

$$H = \sum_{a} \frac{\mathbf{p}_{a}^{2}}{2m_{a}} + \frac{1}{4\pi\epsilon_{0}} \sum_{b>a} \frac{q_{b}q_{a}}{|\mathbf{x}_{b} - \mathbf{x}_{a}|}$$

- Density of electric dipole moments = polarization
- $P(x) = \sum_a q_a x \, \delta^3(x x_a)$
- note $\int d^3x \mathbf{P}(\mathbf{x}) = \sum_a q_a \mathbf{x}_a$
- lacktriangle Perturbation by an electric field lacktriangle lacktriangle E(t, x) is described by
- $V_t = -\int d^3y \, \mathbf{E}(t,\mathbf{y}) \cdot \mathbf{P}(\mathbf{y})$
- ▶ Assume dielectric medium, i.e. <**P**>=0
- $\blacktriangleright <\mathbf{P}_i(\mathbf{x})>_t = \sum_j \int_0^\infty d\tau \int d^3y \, \Gamma_{ij}(\tau,\mathbf{x},\mathbf{y}) \, E_j(t-\tau,\mathbf{y})$
- $ightharpoonup \Gamma_{ij}(au,\mathbf{x},\mathbf{y}) = <\frac{i}{\hbar}[P_i(au,\mathbf{x}),P_j(0,\mathbf{y})]>$
- Matrix of influence functions

 \blacktriangleright translate a wave function ϕ

- ightharpoonup translate a wave function ϕ

- ightharpoonup translate a wave function ϕ
- $\phi_z = e^{rac{i}{\hbar}zp}\phi$ where $p = rac{\hbar}{i}rac{d}{dx}$ is the linear momentum operator.

- \blacktriangleright translate a wave function ϕ
- $\phi_z=e^{rac{i}{\hbar}zp}\phi$ where $p=rac{\hbar}{i}rac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle = $\sum_a lacktriangle$ and

- ightharpoonup translate a wave function ϕ
- $ightharpoonup \phi_z = e^{rac{i}{\hbar}Zp} \phi$ where $p = rac{\hbar}{i} rac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{Z} \cdot \mathbf{p}}$

- ightharpoonup translate a wave function ϕ
- $\phi_z = e^{rac{i}{\hbar}Zp}\phi$ where $p = rac{\hbar}{i}rac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$

- ightharpoonup translate a wave function ϕ
- $\phi_z = e^{\frac{i}{\hbar}Zp}\phi$ where $p = \frac{\hbar}{i}\frac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$
- ▶ Observables M are translated by $M(z) = T_{-z}MT_z$

- ightharpoonup translate a wave function ϕ
- $\phi_z(x) = \phi(x+z) = \phi(x) + z\phi'(x) + z^2\phi''(x) + \dots$
- $\phi_z = e^{\frac{i}{\hbar}Zp}\phi$ where $p = \frac{\hbar}{i}\frac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$
- ▶ Observables M are translated by $M(z) = T_{-z}MT_z$
- ▶ such that tr $W(\mathbf{z})M(\mathbf{z}) = \text{tr } WM$

- ightharpoonup translate a wave function ϕ
- $\phi_z(x) = \phi(x+z) = \phi(x) + z\phi'(x) + z^2\phi''(x) + \dots$
- $\phi_z = e^{\frac{i}{\hbar}Zp}\phi$ where $p = \frac{\hbar}{i}\frac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{Z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$
- ▶ Observables M are translated by $M(z) = T_{-z}MT_z$
- ▶ such that tr W(z)M(z) = tr WM
- ▶ H(z) = H and consequently G(z) = G

- ightharpoonup translate a wave function ϕ
- $\phi_z(x) = \phi(x+z) = \phi(x) + z\phi'(x) + z^2\phi''(x) + \dots$
- $\phi_z = e^{\frac{i}{\hbar}Zp}\phi$ where $p = \frac{\hbar}{i}\frac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle $= \sum_a lacktriangle$
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{Z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$
- ▶ Observables M are translated by $M(z) = T_{-z}MT_z$
- ▶ such that $\operatorname{tr} W(\mathbf{z})M(\mathbf{z}) = \operatorname{tr} WM$
- ▶ $H(\mathbf{z}) = H$ and consequently $G(\mathbf{z}) = G$
- ightharpoonup $\Gamma_{ij}(au,\mathbf{x},\mathbf{y})$ depends only on $oldsymbol{\xi}=\mathbf{x}-\mathbf{y}$

- ightharpoonup translate a wave function ϕ
- $\phi_z(x) = \phi(x+z) = \phi(x) + z\phi'(x) + z^2\phi''(x) + \dots$
- $\phi_z = e^{\frac{i}{\hbar}Zp}\phi$ where $p = \frac{\hbar}{i}\frac{d}{dx}$ is the linear momentum operator.
- lacktriangle For all three dimensions and for many particles lacktriangle = $\sum_a lacktriangle$ and
- ▶ Translation operator $T_{\mathbf{Z}} = e^{\frac{i}{\hbar}\mathbf{Z} \cdot \mathbf{p}}$
- ▶ States W are translated by $W(z) = T_z W T_{-z}$
- ▶ Observables M are translated by $M(z) = T_{-z}MT_z$
- such that $\operatorname{tr} W(\mathbf{z})M(\mathbf{z}) = \operatorname{tr} WM$
- ▶ $H(\mathbf{z}) = H$ and consequently $G(\mathbf{z}) = G$
- ightharpoonup $\Gamma_{ij}(\tau, \mathbf{x}, \mathbf{y})$ depends only on $\boldsymbol{\xi} = \mathbf{x} \mathbf{y}$

▶ With < $P(x)>_t = P(t,x)$ we may write

- With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $P_i(t, \mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau, \boldsymbol{\xi}) \, E_j(t \tau, \mathbf{x} \boldsymbol{\xi})$

- With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $P_i(t, \mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau, \boldsymbol{\xi}) \, E_j(t \tau, \mathbf{x} \boldsymbol{\xi})$
- ▶ It is clear from the context whether **P** is an observable or an expectation value

- With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $\triangleright P_i(t,\mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau,\boldsymbol{\xi}) \, E_j(t-\tau,\mathbf{x}-\boldsymbol{\xi})$
- ▶ It is clear from the context whether **P** is an observable or an expectation value
- ▶ Fourier transform the electric field

$$E_i(t,\mathbf{x}) = \int \frac{d\omega}{2\pi} e^{-i\omega t} \int \frac{d^3\mathbf{q}}{(2\pi)^3} e^{i\mathbf{q}\cdot\mathbf{x}} \hat{E}_i(\omega,\mathbf{q})$$

- With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $\triangleright P_i(t,\mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau,\boldsymbol{\xi}) \, E_j(t-\tau,\mathbf{x}-\boldsymbol{\xi})$
- ▶ It is clear from the context whether **P** is an observable or an expectation value
- Fourier transform the electric field

$$E_i(t,\mathbf{x}) = \int \frac{d\omega}{2\pi} e^{-i\omega t} \int \frac{d^3\mathbf{q}}{(2\pi)^3} e^{i\mathbf{q}\cdot\mathbf{x}} \hat{E}_i(\omega,\mathbf{q})$$

 \triangleright P_i likewise

- With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $\triangleright P_i(t,\mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau,\boldsymbol{\xi}) \, E_j(t-\tau,\mathbf{x}-\boldsymbol{\xi})$
- ▶ It is clear from the context whether **P** is an observable or an expectation value
- ▶ Fourier transform the electric field

$$E_i(t,\mathbf{x}) = \int \frac{d\omega}{2\pi} e^{-i\omega t} \int \frac{d^3\mathbf{q}}{(2\pi)^3} e^{i\mathbf{q}\cdot\mathbf{x}} \hat{E}_i(\omega,\mathbf{q})$$

- \triangleright P_i likewise
- $\hat{P}_i(\omega,\mathbf{q}) = \epsilon_0 \sum_j \chi_{ij}(\omega,\mathbf{q}) \hat{E}_j(\omega,\mathbf{q})$

- ▶ With $\langle \mathbf{P}(\mathbf{x}) \rangle_t = \mathbf{P}(t, \mathbf{x})$ we may write
- $\triangleright P_i(t,\mathbf{x}) = \sum_j \int_0^\infty d\tau \int d^3\xi \, \Gamma_{ij}(\tau,\boldsymbol{\xi}) \, E_j(t-\tau,\mathbf{x}-\boldsymbol{\xi})$
- ▶ It is clear from the context whether **P** is an observable or an expectation value
- Fourier transform the electric field

$$E_i(t,\mathbf{x}) = \int \frac{d\omega}{2\pi} e^{-i\omega t} \int \frac{d^3\mathbf{q}}{(2\pi)^3} e^{i\mathbf{q}\cdot\mathbf{x}} \hat{E}_i(\omega,\mathbf{q})$$

- \triangleright P_i likewise
- $\hat{P}_i(\omega,\mathbf{q}) = \epsilon_0 \sum_j \chi_{ij}(\omega,\mathbf{q}) \hat{E}_j(\omega,\mathbf{q})$
- where the susceptibility tensor is

$$\chi_{ij}(\omega,\mathbf{q}) = \frac{1}{\epsilon_0} \int_0^\infty d\tau \ e^{i\omega t} \int d^3\xi \ e^{-i\mathbf{q}\cdot\boldsymbol{\xi}} \Gamma_{ij}(\tau,\boldsymbol{\xi})$$